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One; the husband may come, contest the ©) and invalidate it

OVERVIEW
mooIn stated previously” that the reason why the 1327 require saying 1"91 is,
Syan vy XOw 72, The Xaa states that if one m°%W is 1K1 to say 1"932, then
there will be a problem if ¥7¥m %92 °nX, because 2 2°091. Our MdoIN will
be discussing two issues. First, what is meant by the words 'm% 20917
Second, what did the X723 (when asking this question) think, is being
accomplished by saying 1"52?

= UNn 1YY Y097 wHab v
We can interpret the X723 to mean that the husband, by contesting the ©3,

and contradicting the s'm°%w testimony, will actually invalidate the v3. The va

will be a 9109 13, and the woman will not be able to remarry with this vJ.
= Y09 NNYYA 1YY NIN NI 199019 NDT 2) DY 9N

Even though the husband is not actually believed’ in his claim to contest
the v3 and there is no real concern for the M w> of the vi; merely idle
gossip caused by the husband’s (false) claims, nevertheless the vx will be

considered 9185," and 72 will require the woman to receive another v before she will
be permitted to remarry.’

mooIN poses a question:
- 1Y9 NION SNANT 1999 “a193 2393 53117 PNYT XPYO INM 19 OX NN ON)

And if you will say; if this is true, that if the husband contests the v3, then
the v will be 109, despite the fact that the m°%w said 1"52, what did the X7
originally think that 1''23 would accomplish to validate the v since there

"It is unclear whether moon is referring to the first "131 v *nx 717", which is discussing 7127, or the second
"1 Hva °nR 70, which is discussing X27. From the w"&27 'own and RX"w1in it appears that 'oin is referring to
the first '711'. The 0"77% maintains that it is the second, See footnotes # 6, 13.

2 ([®,3] 2,2) 13277 77 0.

* He is not believed (according to 7127) since 7’3 °177 1O ONOY,PR*PA 217, or (according to X17) since 7Y
151 oW 2¥ omnn; and in addition the 9w is testifying 192,

* 1t will be 9109 only 7112772. However, 717017 11 it is a valid vi.

3 7"»a will not allow her to remarry under these circumstances where people will gossip about her marital
status.

% This may seemingly indicate that mooIn is discussing the X 237 n°30 according to 727, since MDON
mentions only 2n31°192 and not anm1 *192. See footnote #1.
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still will be gossip which will nullify the va.

mooIn explained previously that the reason for saying 1"91 is because we are concerned
that the husband’ will contest the vx (thereby making it 9109). This seemingly means that
once the 5w says 1"93, the P¥2 cannot contest this v3, for that is the purpose of saying
1"92. Now, however, the X3 is saying that if the ¥ is 2yvn the va will (still) be %109 on
account of 1¥9, even if the m5w says 1"92. The question here is that there is no point at all
of saying °1"92. Instead of asking '°X17 XM X7 K9P *Ki, the X3 should have said that
since there will still be a 1¥% if the husband is 7y ¥» and the vx will be 9109, therefore
nothing was accomplished'' by having the m>w say 1"92.

MooIN answers:
= IMINNY NIV 9N20OY NN XD DY 2197 23NNT PNYT RPIODT 90 U

And one can say that originally the X713 thought that saying 1"521 would
help to the extent that in a majority of situations the husband will not
foment gossip, once the 7w says 1"92 for the husband (erroneously)

imagines that he will not be believed against the testimony of the mow. It is to
this extent only, that 1"92 is useful. It may prevent the husband from being 2y vn.
Therefore the X713 cannot ask what does 1"52 accomplish.

= 9099 1YY P91 AN 1M
However, if the husband does foment gossip by contesting the v3, the v

will be 9195, The woman will require a new 3, before 7" will permit her to remarry.
Therefore the X713 asks that this X917 can eventually become a R if the 92 is qwvn.

mooIn anticipates a difficulty with this interpretation, and answers it:
- PNRMNA DPN DI9Y 1YY W ON NPT RN PHYT XPHDT NN

And according to the understanding of the X7 at this point, that the
%ya7 2wy will be %01 the v3 despite the saying of 1"93, it will be necessary
to say; that which the mwn states; ‘if there are those who contest this v

it should be authenticated by its signatories’; which (seemingly) refers only to
a v that was brought in °"X, where 1"92 is not said. Nevertheless, at this point in the X723,

" There is no concern on the part of 72 itself that the vx may be 105.

8 See end of 11271177 2,2 '00 (on X2 q7).

% If the 9va is not qy7vn, we do not need 192, according to N®OIN, because there is no serious wwn. If the
S¥1 is 7yyn, then 1'92 will not help. The v will be 2109 on account of the Tv7.

' The question "121 X717 *Xi7', indicates that even though you may have accomplished something presently,
nevertheless it may be detrimental in the future. Now however it seems that nothing at all was
accomplished by the saying of 1"92.

' See “Thinking it over’ # 1
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where we assume that H¥237 2wy is 901, even when 192 was said, we will be forced to
say that the phrase 037 1%y w° oX) etc. -

= 02N NN VI NANHN 9 INP
refers also to the case of where one brought a °''777%% ¥3 and said 1"93,
nevertheless if the 9v1 is 9vAwn, the 77 is "M o»pn.?

This entire discussion is only in the 82X 717 of this X723. It is only then that the X7n3 is of
the opinion that %¥2;7 7w will be 010 the 1¥% ovvn vi. The conclusion of the X 1) is

different, as Moo1n will now conclude:
= Y9939 Hya SRR KDY P P11 UM

And the X3 responds to the concern that the 2¥2 will be 7w1v»; saying that
the m5w will be very scrupulous that the vx be executed properly (so as not
to soil his reputation) and the husband will not come to contest'* the vs."

- 55 19D XD 1MNNNY NY 9997 1779N)
And furthermore even if he will be 2y2y» he will not be believed by anyone,
and therefore there is no 1¥® at all even by the populace at large. The people all
know that the 5w is very meticulous and has no reason to lie, as opposed to the %2, who
may be suspect. The people will assume (correctly) that the 9¥2 is lying. The vx will
therefore be w>.

This concludes the first interpretation of MoI1n, which is of the opinion that in the M7
XI°2X, the X3 maintained that v27 7vy will be 01 the v3 on account of 19, even if

1"91 was said. N190IN will now state an opposing view.
= NNIYYA 1YY DIVN DIDD NNPY 19 WHDD PNNS 139290 NINTI PN 1M

However the >''1 does not agree that we should interpret the X3 in this
manner that the v should be 9105 on account of idle gossip —
= 9V NNV 1Y O2PT 1D
since 7" is satisfied'® that the v is “ws.
=991 1999 1YY Y ON 01 NITNHN V) NXANN XY 1IN XYTH I
And an additional proof that the Hv2a is not X1 if he is 9v7v»n against the

"2 The ;awn states this rule — N2 0»pn° — immediately after stating YX7w° y7Xa va X*2n7, which indicates
that this rule applies only in >"X where 1"52 is not said, and not from >";77% when 1"52 is said.

" Seemingly this would indicate that 'o1n is discussing the X737 N30 according to X27. See footnote # 1. If
we interpret '0In to be discussing 727, we can say that 1012 0>pn* would mean, to ask the o7y if it was
written 7nwY. See 7w 2" nn.

' See “Thinking it over’ # 2.

' Presumably the husband is present during the writing and signing of the vx. He observes how the m>w is
meticulously watching that everything be done properly. This will discourage him from being 7v7vn, for he
is convinced that he will not be believed.

1 See previous 121 ('a7) "% 71"7 2,2 'O,
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77w, since the mw» did not state in the first case (where the v was
brought "777a7 and the YW says 1"93), that if ‘someone brings a >'';7772% w3

and the husband contests it, etc’., it should be o>pn, which the 71wn should have
stated according to the previous opinion in Md01N -

- NOYD NPT
As in fact the 1w does state it in the X939, The fact that the 73wn does not state
it in the Xw™, indicates that at no point did we think that the %2 would be believed
against the s'm"%w saying of 1"92.

What then does the XX mean when saying: % °091 qw7yn Hv2a °nX 71, since the "
maintains that the 7¥2 will not be believed, even in the X"71? M0N0 concludes:
= 1999 9M9199INVY 13990 1Y HIDT WY AN

And it appears to be that the interpretation of the words: '7% %027 is

that the people will believe the 1¥%. This is something that is detrimental to the
woman; people may not want to marry her, etc. That is the X771 which we are concerned

about.
= 9Y5 VYN 0PN Yo YaN

Nevertheless, in spite of the fact that there may be 19, the 3 is 2w>. She
will be allowed to remarry despite the 13%. The X3 will conclude that since the %W is
P»7 P70, there is not even 1¥% against the woman.

SUMMARY

There are two ways in understanding the flow of the Xna.

The first is that the X773 in the X7 thought that if the Hva is 2y7yn (even)
after the m>w says 193, he will be 7019 the v3. The reason why the v will be
709 is (not because we actually believe the mw1v; which we do not, but
rather), because the H¥277 1Y will cause a 1¥% nNRYI7 on the woman, and we
do not want her to get married under these circumstances. According to this
X" that vy will be 01 the vx in spite of 1"92, we would have to
conclude; a) the purpose of saying 1"92 is (only) to discourage the husband
from being 7v7vn, and b) that when the miwn states: 2pn° 0 1PHY W° OR
N3, it refers both to °"R and "1, even when the 5w said 1"92.

The second interpretation (according to the °"7) is that there never was a
X720 that 2¥27 w7y should be Y01 the v if the MW says 1"92. 7 When the
Xmx states: 7°% 2091 WIYH Y2 °nKR 77; that means that people will believe the

' The first interpretation will claim that this is contrary to the simple reading of the test: ‘"> 2°097'.
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139 and will gossip about this woman. This will be detrimental to her. 7"°2
however will permit her to remarry once the m>w testified that 1"92.
Therefore this interpretation will not agree with conclusions a)'® and b)
stated above'”.

This disagreement is only concerning the "7 of the X713, In the Xipon, all
will agree that once the 7w says 1"92, the Hva71 w7y will not be heeded at
all.

THINKING IT OVER

1. Explain why moown question (n"X1),”° is only if we follow nwoIn
interpretation of TIXX7 X7 13127, but it is no question according to s™"wA
interpretation.”’

2. In explaining the y17°n (of the X1 that 7 P7°1), why does N1901N have to
say”” that the Y¥2 will not be 7w1yn? It would be sufficient to say (as Mo
concludes) that he will not be believed.

3. How does the °"7 understand, according to the X", what 1"93
accomplishes? Seemingly without the 1"92 there is only a wwn of 1%, and
19, as the *"1 says, cannot be v 201>,

4. What are the relative merits and difficulties of understanding our X713
according to each of mooIN interpretations?

'8 However, see q'"w a"ann.

" This second interpretation will maintain that both these conclusions are faulty. Conclusion ‘a)’ which
states that the whole m1pn of saying 1"92 has no real power, it is just an attempt to dissuade the 5¥a from
being 1yyn, seems like no mipn at all. Conclusion ‘b)” which states that 71w 15y @ oX) applies to 7"
seems to defy the simple reading of the 71wn that it applies to >"X exclusively.

%0 See footnote # 11.

*! See n"m.

2 See footnote # 14.

2 See 7™w 0" (TR K"wAAn and P
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